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A brief reminder
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A brief reminder

pPp momentum asymmetry cosine of the opening angle of pp
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However it didn't work
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@ | forgot to take into account a cut on the polar angle of the outgoing particle
(will be discussed a little later)

@ How did The LHCb conduct their analysis?
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The LHCb Detector at the LHC

8% The LHCD detector &

tracking system calorimeter

collision point

p — p collisions with /s = 13TeV
L=2fb"1

ovs = 100mb

Byyp—spp = (2.120 £ 0.029) + 1073

Rich detectors for
particle identification

Vertex Locator (VELO)

Muon system

(TP S ey SOV BOYAS = 0,749 + 0.005 + 0.028 + 0.037ub
20<y<45

6.5 < pr < 14GeV/c for p — p pair

p1 > 2GeV/c for each particle

Maximum E7 in HCal & ngpp < 450 — LO trigger

10 < 0 < 400mrad for charged particles
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The LHCb outcomes
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Invariant mass of (pp)
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all cuts
@ The simulated signal and background as well as the signal and background
extracted from the LHCb data, respectively

MC MC
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@ As a consequence, it can be concluded that the signal-to-background ratio is
consistent with the LHCb result

© And what about SPD?
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Returning to the SPD case
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Q = pr(pp) > 2GeV/cor
pr(pp) > 3 GeV/c
@ As well as |cosf| < 0.9
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Imposing these cuts
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As a result
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© Better, but the background is still large
@ Perhaps, we should impose some 2D-cuts on py of p and p
© Anyway, the analysis should be continued
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Backup
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